(@)

3% + 5%x3%x(2x) = 243 + 810x

10x3°x(2x)* or 10x3%x(2x)’

+1080%

Bl

M1

Al

11

l.1a

11

Obtain 243 + 810x

Attempt at least one further term
— product of correct binomial
coeff, power of 3 and attempted
power of 2X, with powers
totalling 5

Obtain correct third term

Condone 3° + 810x

Allow terms not written as a sum eg
written separately, or linked with a
comma

Binomial coeff must be numerical; °C»
is not yet enough

Allow BOD if brackets missing when
index is applied to 2x, even if never
recovered eg 540x* or 180x°
Coefficient simplified

Terms separate, listed or summed















